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S
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19. 1 26 mL 30 mL 40 mL
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(2) NMBFE 3 s JEWr R [m] 7, i

3% 1) s 2
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:%x (s +54) :% x (1020 m +
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’Ug;t:’l)ﬂi(t‘l'l.o S)(l 6:[\)

RSt 25 s,s~2108 m(1 43)

(3) 2 =Wy P ol o 25 AL 7
R, B KB 2108 m, 1 [A]
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PR ST o s 1 o, A
b & B RIS IR )

19. (1) BH Otk
(2)BEAR fAfE 18
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Vg = =T =0.03 m/s(1 43)

MBI AT A, AR 7 s N RLASZR (1) 3
B A% 53 30 em Z AL,
IR w = 2f R0 v = 2f, DG B 2
M63 emibFeZhF 70 em 4, R 5

F) R

=70 ecm -63 cm =7 ¢cm =0.07 m
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14. BC

15, figf s (1) 7K A H A 7K A AR
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(2) B RL Y %5 B 45 T o 1Y %
JE , WS de} i 2% JiE
oo Mu 444
P =P% =y T14.8 em’
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WA RN AT 4 B 1 4 B
G HERI SR o7 .
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(3)73.6  (4)1.095 x10°  /]\

(5)®

“m Pk
VB 27 55, a1
M EHE RIS R 7
(A (2)81 30
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